
语法课堂
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   什么是修饰

  有哪些从句

  如何识标志
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语法语义层检验
1.逻辑意思是否合理
2.简洁性原则
• 是否有重复表达
• 短语优于从句
3.技巧原则
• Being单独出现绝对错误
• 同位语优先
4.忠于原文原则:尽量遵从原句要表达的意思
   改变了原文错误又和原文长相最接近的答案就
很可能成为正确答案



逻辑意思



课堂练习1

• The shift from traditional to cosmetic dentistry is 
because adults are getting fewer cavities and  ing 
more vain.

•     (A) is because adults are getting fewer cavities and  
ing

•     (B) is because of adults getting fewer cavities and 
their  ing

•     (C) is caused from adults getting fewer cavities and 
in addition  e

•     (D) is occurring because adults are getting fewer 
cavities and  ing

•     (E) occurs because of adults getting fewer cavities 
and  e
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• The director's insistence that there be adequate stage 
lighting and professionally installed backdrops in the 
theater was not obstinate but a determination to 
provide a safe work environment for the actors and 
stage crew. 

• (A)  was not obstinate but a determination 
• (B)  was not obstinate but determined
• (C)  was not because of  obstinacy, he was determined 
• (D)  resulted not from obstinacy, but he was 

determined 
• (E)  resulted not from obstinacy but from a 

determination
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• (B) Norman Rockwell was able to make a living as 
an illustrator and painter.

• (C) An illustrator and painter, Norman Rockwell 
was able to make a living at it.

• (D) Able to make a living from them, Norman 
Rockwell illustrated and painted.

• (E) By illustrating and painting was how Norman 
Rockwell was able to make a living.
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• Because economic hardship is the real source of many 
other problems is the reason why the revolutionary 
government attacked inflation first.
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• (D) As a result of economic hardship causing many 
other problems,

• (E) The fact that economic hardship is the real source 
of many' other problems is why
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